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1. If a random variable X follows F-distribution as X~ ( )nmF ,  then 
X

1
follows: 

            a) ( )nmF ,      b) ( )nmT ,      c) ( )mnF ,     d) ( )nT  

2. If 0.4xyr = , then ( )2 ,2x y
r  is equal to 

a) 0.4                   b) 0.8         c) 0             d) 1 

3. For a consistent estimator which of the following statement is true  

a) lim 0
n

P e 
→

 −  =
 

           b) lim 0 1
n

P  
→

 −  =
 

 

c) lim 1
n

P e 
→

 −  =
 

            d) 
0

lim 1
n

P e 
→

 −  =
 

 

4. A question was asked, where answer is either YES or NO, to 150 individuals from a section 

of population, of them 90 said YES answer. What will be the value of chi-square if the 

hypothesis to be tested is P(YES) = P(NO)? 

a) 5                    b) 6                   c) 15               d) 25   

 

5. What is the sampling distribution of sample mean if the random sample of size n = 5000 is 

drawn from a Poisson distribution? 

a) Normal distribution   b) Standard normal distribution c) t-distribution d) F-distribution  

 

6. A researcher wishes to draw sample of individuals from poor, middle and rich economic 

class. Which type of sampling method is appropriate  

a) Simple random sampling                  b) Stratified sampling   

c) systematic sampling                         d) convenient sampling  

 

7. A sufficient estimator can be utilized  

a) Partial information of a sample                b) Full information of a sample   

 c) Partial information of a population         d) Full information of a population  

 

8. The simplest completely randomized groups design is a: 

a) Single group design  b) Single variable design 

            c) Two group design               d) Two variables design 

9. If 0.75xyr = , then correlation coefficient between u = 1.5X and v = 2Y is 

a) 0                       b) 0.75       c) -0.75      d) 1.5 

10. If Xi follows normal distribution with mean 𝜇 and variance 𝜎2 then 𝐸(𝑋 − 𝜇)4 = 

             a)   3𝜎2                 b)    3𝜎4                    c)    3𝜇2                     d)  3 


